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Writing Equations from Graphs %_,_a M (bx) + HO
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Write the indicated equation for each graph.
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Write a sine equation | @Write a ;n%%
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Write a sine equation. b Write a cosine equation.
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1. Ifeach angle has the given measure and

terminal side lies. is in standard position, determine the quadrant in which its

"lrr/“ ) (
3 _Sn_ 1o P k.
el Ll 3 Q2 4 a0
- 15Q° '

2. Change each degree measure to radian measure in terms of 7.
4T, : . W
é a. 80 \ATY, |2 b. 285°

3. Change each radian measure to degrees.
el i % : (B20° b, 167”

4. Write the word TRUE or the word FALSE. Determine whether the angles are coterminal.
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5. Find the reference angle for each angle with the given measure.
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6. Identify the amplitude, period, phase shift, and vertical shift for each function.
a. y=-5cos(3x)+7 A: & P; 21?& Vertical: u,p'l

b. y=6sin(4x)-13 A:_b  P: W/ Vertical: Rowrr 13 '

RN & .o g
7. Graph y = -2 b | 10
L) [ h >
T i 4 : #
A= 3 - B
5
' ";;' = R Y
, i 5 ) \\
VM £ o g i . ] 13'1
/’4:‘."' H
: ..{:,I
it
" " r 4
,,
2 e

Scanned with CamScanner




Ircllo
R g Date
; Umﬁ Beview - Modeling ‘With Trigonometry e ‘
. . o
Convert each degree measure into radians and each radian m: s g’lT/ﬁ
- ’ 480°. W < :
p 22 B9 =159 2730
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3y 7100 = =ALE” 4) 105
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6) -225° &MY,
5 -~ —10M10° il 4
4m 2
7 -2 =-210° 8)—’5"2”‘0
Fmd .a posntwe and a neg;ltlve coterml;nal angle for each given angle.
9) 120° = 480)—340 10) 45° 2\S | -40S
o . ‘ '- | ' '-"' — Tr
1) 2710° ,30) =90 iy a2 \\"/("’j VR
5 8 o P8 -227F s 13y -38W
13) 15 5 =) - W }'/2- .
Find the value of the trig function indicated. N
15) sin @ ., 16) sec 6 . _@= i
]
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- cure of each angle indi
» meas : gle indicated. Round to the nearest tenth.
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.- RKind the measure of each side indicated. Round to the nearest tenth.
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57. y =sin36

I
N T g
3. C mpletethe chart. ; 7 fan
;M—ﬁﬂ'@;&mﬁ—j’ﬁ% f:;g""
Degrees Radians ‘J_(_Jﬁ_y__,, JE/ e /-3
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210° "‘T"/g (—4'341 !-'/,) 3 -"/2 -N34 3
solve the followfng probléms using your Unit circle (exact values, no decimals).
34. coslfr ' 35 sin—30° 36. t:i:z-f 37. (:05‘600“ f-scpo'
2/2 o l/z B 3./2_ . /2,
38, sinﬁzf-z'"" 39. tan7m =2 40. cosZ-l;}”E 41. Js_if—zzsc'
Y b4
| 2 ~% "2
42, tan585° 43. cos1440° 44. _sin-’-’ff—E 45. cosiz—"
\ z, V3
| Z3 72

Evaluate each of the following. Round answers to the thousandth (3 decimal places).

46. sin19° 47. tan—13.7° 48. cos—= T 49. sin-—?-ﬁ_’—

50. cos345° 53, sin78
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l h each of the following.

5raP
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54, y =551ﬂ9

Amplitude: ‘lg_ Period: 277 Domain:'(--o.'ﬂ) Range:r_-‘/z“/z:] N S Mone
A

55. y = —3cosf
Domain: (—")“‘) Range:
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Amplitude: B Period: 2+t
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57. ¥ =sin3f ] = % e _] E
Amplitude: | Period: % Domain: (- 9, °°) Range: E 1) |
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58. y = 3o 6C 1) - 4 _ : . /
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